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Z2-2-8-5 Off &4 & E Ol At Hns2
E5 Al 2,230,000 2,290,000 260,000
200 M2l +=¢ 2,214,500 2,275,000 260,500
210 & HAN 2= 174,499 176,684 A2,185
215 d=nf=3+Y 150,000 147,000 3,000
215-01 d=u23+¢ 150,000 147,000 3,000
< WS > 150,000 147,000 3,000
O nsReFEs x-uR=s 500,000,000 *30/100 150,000
216 Ol Xt==¢ 24,499 29,684 A5,185
216-01 S0 30l X+ 24,499 29,684 25,185
< WS > 24,499 29,684 A5,185
© 33030+ 24,499,000& «1& 24,499
220 A HAN2 = 2,040,001 2,098,316 A 58,315
o == 253,001 253,316 A315
222-02 LBt 2 g3 253,001 253,316 A315
<WsSH > 253,001 253,316 A315
O SH3dFxE 22A=ENREES 37,794,000 «1& 37,794
O SH3EFXE 22A=ENREES 13,700,000& «1& 13,700
O HZANEFSSFIE 22=ENRES 43,320,000& 14 43,320
O dHANESSFINE 2e=ENRES 27,734,000 «1& 27,734
O HEANEFSSFIE 22=ENRES 13,355,000 «1& 13,355
O NMEIIFXE AL+ NRES 4,110,000& 14 4,110
O SHANESEFIE 28 NRES 22,844,000 «1& 22,844
O HE288EFxE 28 NREES 16,504,000 «1& 16,504
O SEHANEFSSFIE 22=ENRES 4,490,000& 14 4,490
O a3dFxE 22A+=ENREES 21,000,000 «1& 21,000
O SHANESEFXE 2= NHFES  5,100,000& «1= 5,100
O UXNESEFSI=INEY et RE=
10,050,000 «1& 10,050
O HFXNREFXH FXUHRS 33,000,000& «1& 33,000
223 JIEt=¢ 732,000 780,000 A 48,000
223-03 UEHH = 732,000 780,000 248,000
< WS > 732,000 780,000 A 48,000
O F=EXALHNEHZ
((50,0002 *10024 )+(40,000& *1,40021 ) ) 12& 732,000
224 NHAZ ¢ 1,055,000 1,065,000 A 10,000
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220 SAIHAN LA+
224 NHAE 2

09 i 0

Z2-2-8-5 Oll &F o & E Ol At Hns2

224-01 AHtAE =g 1,055,000 1,065,000 A 10,000
<usH > 1,055,000 1,065,000 A 10,000

O FEXALLUEHE 1,055,000,000% 14 1,055,000
500 EX3 15,500 15,000 500
520 Al - SHIEEXZ=S 15,500 15,000 500
521 Al - EHIEXZSS 15,500 15,000 500
521-01 Al - EHIEX =SS 156,500 15,000 500
<usHh > 15,500 15,000 500

O WHF=XEAI XN AL 8,000,000& 1 8,000

© fiz2tol EMAHZE BX 20,000 x6H »75& 7,500




